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£>> cheeses = ['Cheddar’, 'Edam’, 'Gouda']
>>> numbers = [17, 123]

>>> print(hnumbers)

[17, 123]

>>> cheeses[0]

Cheddar

>>> numbers

[17, 123]
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2| 2 E 0| A in operator

/>>> cheeses = ['Cheddar’, 'Edam’, 'Gouda']

>>> 'Edam' in cheeses

True

>>> 'Brie' in cheeses

False

>>> cheeses

['Cheddar', 'Edam’, 'Gouda']

>>> for food in cheeses :
print(food)

Cheddar

Edam

Gouda
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umbers = [1, 3,5, 7, 9, 11]

for cheese in cheeses :

print(cheese)

for i in range(len(numbers)) :

numbers[i] = numbers][i] * 2
print(numbersli])

rint(numbers)

Cheeses = ['Cheddar’, 'Edam’, 'Gouda']
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Cheddar
Edam
Gouda
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[z, 6, 10, 14, 18, 22]
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>>> a = [1, 2, 3]
>>> b =1[4,5, 6]
>>>c=a+b
>>> C

[1, 2, 3,4, 5, 6]

>>> ['a'l * 4

IIIIIII

[1.2,3,1,2,3 1,2 3]

o

/#The + operator concatenates lists \

# Similarly, the * operator repeats a list
a given number of times
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#list slice

>>> t — [Iall lbll lcll |d|, Iell Ifl]
>>> t[1:3]

[Ibll Icl]

>>> t[:4]

[Iall Ibll ICII Idl]

>>> t[3]]

[Idl, Iel, Ifl]
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ﬁum = int(input("List element 7H YL &: ") \
NewList = []

templList = [0]

for i in range(num): -
print(i, "EHR{") T
t = input( " F7t2 element YH: ")

. I:lll,:fll june e o—
templist = [t List element 7H=: 9= 4
NewList = NewList + templList 0 EH i 8=
, . =2 element &= 12
print(NewList) 1 H
=22 element = 34
2 BT
=212 element YEH: 2
3 BT
=212 element Y=H: g
[I-IZI_, I3-'q-l_, IEI_, IQI]
e |



2| A E Methods

.append 2| AE LHO| Af =2 OfO| &l ot 7HE F7}51], OFX|2Hof| €| X[t
Ct

.insert 2| AE L Of index H=2 2t OFO| &l L§E 2 7ot}

.extend CtZ 0|52 2|AE, OfO|EH R =5 F7}otC}

sort c|AEQ| OO|HEE = AHE FE , =A< ascii code &= O|C}

.pop 2| AE L0 X St= OFO|El Q| index H & Q1 BIOf AMK| ot
C|

.remove 2| A E WO =XiSt= OFO| 'l 2 AMK|, 5ot OO &l o™ K
= OFO| &l Bt ALK




.append

G method append

>>>t1 = ['X, 'y, 'Z
>>> tl.append(‘a’)
>>> t1

[,y 'z, ‘al

>>> tl.append(e’
>>> t]

(X, 'y, 'z, 'a, €]
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ansert

@method Insert

>SS t1 — [l 1 I 1 IZ]
>>> t1

[I 1 I 1 1 ]

>>> t1.insert(1, ‘a’)

>>> t1

[I 1 l 1 l 1 IZ]

>>> t1 |nsert(1, ‘e’)

>>> t1

[I 1 l I I I l 1 IZI]
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.extend

/# method extend

>>>t1 = ['x', 'y, 'Z']
>>> t2 = ['d', 'e]
>>> t1.extend(t2)

>>> t1

['x,'y', 'Z','d", 'e]
>>> t2.extend(t1)
>>> 12

[ldll lell IXII lyll lzl, ldll Iel]




.sort

/#method sort

>>> t — [ldll ICII Iell lbll lal]
>>> tsort()
>>> t

['a’, 'b', 'c’, 'd’, 'e']
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.pop

/#method pop(index)

>>>t =1[a','b, 'c, d, ‘e]
>>> x = t.pop(0) + t.pop(1)
>>> t

['c’, 'd’, 'e']

>>> tappend(a’)

>>> t




remove

# method remove(value)

>SS t — [IaI, Ibll |C|]
>>> t.remove('b’)
>>> t

@', 'c

\_
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f1=["apple’, 'blueberry’, 'melon’, 'tomato’]
f2=['strawberry’, 'lemon’, 'banana’]
f3=f1+12

print('f1+f2= ", f3)

f3.append(‘blackberry’)
f3.sort()
print("after sorting = ", f3)

J

Pl

===== RESTART: E:/1 Works/2017Work/KMooCZre| /Exercise Code/turtle test py =====
f1+f2= ['apple', 'blueberry', 'melon', 'tomato', 'strawberry', 'lemon', 'banana']
after sorting = ['apple', 'banana', 'blackberry', 'blueberry', 'lemon', 'melon’,

‘strawberry', 'tomato']
e



Method Zr-&5}7] 2

ﬁ:['apple', 'blueberry’, 'melon’, 'tomato'] \
f2=['strawberry’, 'lemon’, 'banana’]

f3=f1+f2
print(f3)

#remove element with its first char 'b’
index=len(f3)

1=0
I
o ===== RESTART: E: /A1 _Works/2017Work/KMooCZre| /Exercise Co
while i < index: de/turtle_test.py =====
if f3[i][0] == "b" : list = ['apple', 'blueberry', 'melon', 'tomato', 'straw
f3.remove(f3[i]) berry', 'lemon', 'banana']
i=i-1 remove all 'b' elements = ['apple', 'melon', 'tomato',
index=index-1 'strawberry', 'lemon']
i=i+1 >>>

Kprint("remove all 'b' elements = ", 3)




Method Er&0o}7| 2, &

" worE ox 5 2 . ‘b’ A|RISl= X}
while i < index: *I-OI-A-I *I-x." I'-Tl— LI-
if f3[i][0] == "b" : o O E f Oo| -
f3.remove(f3[i]) OI E| Ol 73|'_|O/“\ |_A |_
i=i-1
index=index-1 %Ef(lndex index- 1)
=i+ . d © I_O|_|_
\_ = ) :I-EET'__XEE%I__Ol-
7| }siM = i=i-1 0| R
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2KHHA lists

 2AFE S F(list) Y8
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S[0][2]

S[0][0]

s[oj[]

S[1][0]

S[2][1]
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/fq= [10,0.0,0,0,01,{0,0,0,0,0,01.[0,0,0,0,0,01,[0,0,0,0,0,01,{0,0,0,0,0,01]

for i in range(5):

for j in range(6): >
fqlillj] = i+j ===== RESTART: E:/1_Works/2017Work/KMooC-Z 2| /Exe
e o . Fcise Codefturtle test . py =====
prlnt(l, th row : ,fq[l]) 0 th row : [':', 1, 2,3, 4, 5]
1 throw : [1, 2,3, 4,5, 6]
= TR SN
row
print("all - *, 1q) L throw: [4 B 6 7,8 0]
all « [[o, 1, 2,3, 4, 5], [1, 2, 3, 4, 5, 8],
[2, 3, 4, 5,8, 7], [3, 4, 5, 8, ? 8] [4, B, B
7,8, 9]]




2KFH list, S EH X 2

/s = [ ["kim", 90, 75], ["park", 89, 95], ["choi", 76, 85] ] \
print( s )

for i in range( len(s) ):
print( s[il[0] )
sum=0
for j in range( 1, len(s[i]) ):
sum = sum + s[i][]]

K print("sum =", sum, "average =", sum/j, "#n") y,

r

===== RESTART: E:/1_Works/2017Work/kKMooCZ 2| /Exercise
Code/turtle_test.py =====

[['kim', 90, 75], ['park', 89, 95], ['choi', 76, 85]]

Kim
sum = 165 average = &2.5H
park
sum = 1584 average = 492.0
choi
sum = 161 average = &0.%h

g g |
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/mul = [ 10 * [0] for i in range(15) ] \
print(mul)

for i in range(15):
for j in range(10):
mulli][j] = (i+2) * (j+1)

print(mul[i]) #print by row ||Z2__ pestaRT: E: /1 Works/201THork/KMooGZE2| /Exercise
Code/turtle_test.py =====
> 4. B, 8, 10, 12, 14, 16, 18, 20]
6 0 12, 15, 18, 21. 24, 27, 30]
1216, 20, 24, 28, 32, 36, 40]
1
|

print("Done!!")
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b, 2D 25 3D 35 4D 45 a0
8, 24, 30, 36, 42, 48, 54, 60

|
, 21, 28, 35, 42, 49, 56, 63, 70]
, 24, 32, 40, 48, b6, 64, 72, BD]
§, 27, 36, 45, 54, 63, 72, 81, 90]
20, 30, 40, 5D 60 ?D 8D QD 10
33, 44, 55, 66, 77, 88, 949, 11
24, 36, 48, 60, 72, 84, 96, 1D8 1
, 349, 52, 6b, ?8, 91, 1Dd 11?
28, 42, 56, 70, 54, 98, 112J 126,
30, 45, 60, 7b, 90, 105, 120, 135,
[16, 32, 48, 64, 80, 96, 112, 128, 144,
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